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Question: 1 
   
Which of the following authentication methods are available to access Web services? 
 
A. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP SPNEGO. 
B. WS-Security Basic, WS-Security Basic with LDAP, WS-Security Digest, HTTPS, HTTP Digest 
authentication, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO. 
C. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP Basic with LDAP, HTTP SPNEGO. 
D. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO. 
 

Answer: A     
 

Question: 2 
   
Which of the following is false when "Resolve conflicts automatically" is selected during the Check in 
operation? 
 
A. No action is done. 
B. It makes the process of check in faster. 
C. The server will try to detect and solve the conflicts automatically. 
D. It makes the process of check in slower. 
 

Answer: B     
 

Question: 3 
   
'View A' is the implementation for interface view 'View B'. What happens when a user makes a change 
to 'View A' that causes the implementation of 'View B' to be non conformant with the specified schema: 
 
A. You will not be able to save the change to 'View A'. 
B. The user will be required to re-add an implementation view to 'View B'. 
C. The user will be alerted that the change to 'View A' will affect 'View B', and 'View B' will be marked as 
invalid. 
D. A copy of 'View A' will automatically be created to preserve the implementation of 'View B'. 
 

Answer: C     
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Question: 4 
   
Which of the following sentences is false about Denodo Model Bridge? 
 
A. Denodo Model Bridge transforms logical data models into Virtual DataPort elements. 
B. Denodo Model Bridge extracts the entities, attributes and relationships from serialized data models. 
C. Denodo Model Bridge only creates the equivalent interface views in Virtual DataPort. The user must 
manually create the associations of those views. 
D. Denodo Model Bridge creates the equivalent interface views and associations in Virtual DataPort. 
 

Answer: C     
 

Question: 5 
   
You have the following views defined in Virtual DataPort on top of a JDBC data source: - A base view 
'employee' with the fields: EmployeeID, Department, Designation, Manager. - A derived view 
‘employee_by_department’ is created on top of it to group the employee by the department. In the 
base view, you have added the description for the field ‘Department’ and modified source type size. 
Which of the following sentences is true? 
 
A. The source type size can be retained, but the modifications in the field description will be lost, as it is 
obtained from the source. 
B. Since these modifications are done in Virtual DataPort, when executing a source refresh the values 
will be overwritten with those obtained from the underlying source and hence both changes will be lost. 
C. Both the source type size and the field description can be retained after source refresh. 
D. While the source type size cannot be retained, the description is kept upon source refresh. 
 

Answer: D     
 

Question: 6 
   
What are the steps performed by the Denodo Optimizer to apply join Reordering? 
 
A. It just reorders the join for the view in which join reordering is required 
B. Push down the group by first and then reorder the join operations 
C. Reorders the join operations first and then pushes down the group by operations 
D. It pushed down operations to the data source and then applies suitable join 
 

Answer: C     
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Question: 7 
   
Which of the following occurs when 'Automatic simplification of queries' is turned on? 
 
A. Removes the redundant branches of a query. 
B. The optimizer uses statistics to choose which query plan is executed. 
C. Reorders the joins of a query to increase delegation to the sources and Removes the redundant 
branches of a query. 
D. Reorders the joins of a query to increase delegation to the sources. 
 

Answer: C     
 

Question: 8 
   
Which of the following is not a supported authentication method for publishing web services? 
 
A. All the other authentication method are supported for publishing web services. 
B. HTTP Basic. 
C. HTTP Digest. 
D. HTTP Basic with VDP. 
 

Answer: A     
 

Question: 9 
   
Which of the following authentication methods are available to access Web services? 
 
A. WS-Security Basic, WS-Security Basic with LDAP, WS-Security Digest, HTTPS, HTTP Digest 
authentication, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO. 
B. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Basic Authentication, HTTP NTLM, HTTP SPNEGO. 
C. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP SPNEGO. 
D. WS-Security Basic, WS-Security Digest, HTTPS, HTTP Digest authentication, HTTP Basic Authentication, 
HTTP NTLM, HTTP Basic with LDAP, HTTP SPNEGO. 
 

Answer: C     
 

Question: 10 
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------------------- is the graphical tool that enables the integration between Denodo Virtual DataPort and 
third-party modeling tools. 
 
A. Diagnostic Monitoring Tool. 
B. Solution Manager. 
C. Denodo Model Bridge. 
D. Denodo Platform. 
 

Answer: C     
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